Breakdown of Included Items:

1. Passenger side up-rfight covrsnnsimsimsusnsnisrsisisnisisissssssssnrarensasanensnsnesssnsisns |1
2. Drivar side Up-TihL.. ... cooimminimrsimmsmanssainssssmiai i s ainssasasasaseasnn inaa |
LI T o e e e o s e i s i L)
P e s e e s e e s v e A )
e L T B e e e e i (L
6. Driver Vertical mounting plate ........cccciaisrsmsssssssssassssssssnsesssnssssssssssssssasanennes (1)
7. Passenger Vertical mounting plate.......cccccsnansnsssssssssssnsnsessssnsnsssssssssssasesanens (1)
8. Driver side frame bracket........coccsrninmnssmensnninnsssansssessnsssnssssnsnsanansasnnsnensnssnnns [ 1)
9, Passenger side frame bracket ..........cccininrsmicssssssssssssssssssesssnsssssnssssssssasenennes (1)
10. M12-1.75x25mm flanged hex bolt........cccsemicissnrssnsnssarenssnassssnssssnssssnassassas )
11. M8-1.25x20mm flanged hex bolt .......ccciciiarmmimierssassssssnansnsnsasasssesesasassses ()
12. M8-1.25x20mm button head Bol.......csmieiemarsmismsresssssssnsararsnsasasasssasesasassnsas ()
13. M5-1.25 serrated flange hex it ...cccoammeiereisismisisrssssssssrarsnssnesesssssssssassnsas )
14. MB flat Wasthar iisnsmmisimrnsissmimisimismisisnmmisasesssis s et
15. M6-1.0x35mm button head bolt ......ccorseessmmarsersssrsnsssessssns s snsnssssnsnssnanseanssnsl @)
16. ME X 1.0mm barmal dlpssssisimensisisissimisimismisisirmiiisisissmisisimisie o]
17. ME6-1x20mm button head bolt.......ccccsimmnenssmmsrsmsassrsnsssesssses sssssmnssansnnssanssnnasss | B
18. MG Flanga Mitiismnmmisimrnsissimisinismisisnmmiiisasmvssssis s e )
19, MG At WY ..covnirimnsmssnmnssnss sussans s punysasnini savamisssismaanmisssns apsnaersa i)
20. M14-2.0x60mm hex flange bolt.......ccmieieiarsmismeresssssnansnsssasasssasesasasissas{2)
21. M12-1.75 sermated hex Nut......ccccommmmminmsssamnssesanssnnsssasnssesssnsnnnssansnnssansenses | 1O
22. M12-1.75X55mm flanged hex bolt......ccsceieiaismisisresssssssrarsnsasesasssasssssassnses{B)
23. M12-1.75x105mm flanged hex Bolt...cccaeserereiaismisisresssssssraransanasesssasssassssnsnsl @)
M. Adhashva-back pate, cisrssisimensisisnsmmismismisisiriisivseisiss e (o)
25. License plate relocation bracket .........ceceerrmsrsrressssmsssensssnsssasnssssasnssnsnsasnssss [1)
25, PROE-L.75" e PIUE sseisisvsistesmsinmmsmsisimisimsmnissrsiisinminieemisimsinsio )
27 Locking panal plug scsmmisimrmsismimimsinmmisisimmiissminssssisisin etl)

28. Plug & Play sansor aXbenslon . esisesmrereisissisisisssssssnsmrarannunenesssssssssssinsnal )



